Multiply and Divide by 10" (F)

Find each product or quotient.

4,12 x 10* = 9.65 + 10 =
9.2496 x 10* = 4,1 x 10* =
9.283 x 10* = 6.1425 = 10 =
8.4 +10'= 7.9 =10 =
0.4+10'= 8.9234 + 10 =
4,788 x 10* = 8 x 10! =
5.8728 x 10 = 3.863 x 10* =
5.62 + 10t = 1.4019 - 10 =
7.546 - 10 = 0.1 +10'=
5.857 + 10' = 3.26 - 10 =
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Multiply and Divide by 10* (F) Answers

Find each product or quotient.

412 x 10* =41.2

9.2496 x 10' = 92.496

9.283 x 10* =92.83

8.4 +10'=0.84

0.4 +10'=0.04

4.788 x 10* = 47.88

5.8728 x 10' = 58.728

5.62 + 10" =0.562

7.546 = 10* = 0.7546

5.857 = 10* = 0.5857

9.65 + 10' =0.965

41 x 10t =41

6.1425 + 10" = 0.61425

7.9 +10'=0.79

8.9234 + 10 = 0.89234

8 x 10 =80

3.863 x 10" = 38.63

1.4019 + 10 = 0.14019

0.1+ 10'=0.01

3.26 + 10 = 0.326
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